VYRAZY

1. Ciselné vyrazy

1.

22

Vypocitej:
a)4+3-2+1=
b)4-3-2-1=
c)(4+3)-2+1=
d)4-3)-2-1=
e)d+3-2+1)=
HD4-3-2-1)=
g @4+3)-2+1)=
hy(4-3)-(2-1)=

Vypocitej hodnotu ¢iselného vyrazu:
a)l+2°-3+4°=

Wl-2 34 =

Sl +2) 34 4=

-2 3-4"=
e)1+2°-(3+4)=
f1=2-F-4=

& (1+2y (3+4)=

4

2 (1-2) (3-4)=

Vypocitej:

a)\25-16 = b) V25 -V16=
d)V25-16= e)V25-16=
g)25-V16= h) V25 16=

Vypocitej:

a) V169 — 144 = b) V169 — V144 =
) 169 — 144 = d) V169 —144 =
e) V169 - 144 = ) V169 - 144 =
g) 169 - V144 = h) V169 - V144 =

Vypocitej:

gyl +9+4 3=
b)y1+9-V%-3=
) (1+9) V4-3=
d)1+9°-\4 —3=

c)25—\/1_:
f) V25 - V16 =

i)\25+16=



